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070 0O 0O continuation [

0000 Ogotol break,continuel0 U0 U00O0OO0OOOOOOOO

ood U continuation] ggboooopooboobogo
gooooood oooooobbooboooo co
gboooogod:

int main(int argc, char** argv) {
printf("The result is %d.¥n", 1+fact(10));
return 0;

}

gboooboooboobgoooboboobooboob —1000oo0bbobooob
oobooooobon
ooobobooboobooooboobobobbooooonobobooboboog
goooooooooobobooobooooooboooboon

U program counter ] [J gooooobobobboboobobboon
gbooboobobooooooooboboooon
ood O gbooobobbobooboboooooboogoobooooo

g00Db0oogobooogobooogoobOecoroutinedd0 oo oo
ugbobobbodgbooboboobobboooo
goboboobooboooboooboobboobooboboo

71 000000

O00 continnation0 0 OO0 00000000 DODOOOO0ODO

newtype K r a = K ( )

uK :: Kra->(a->r) >r
unkK (K ¢) = ¢

instance Monad (K r) where

return a =K ( )

Km) >k =K (N c->m O a->unk (k a) <))
-- K, unk 00000 0O

--m>=k=\c->m(\ a->kac)

00000 rO “O007000a —»>r00do“0bo0oooooOorobooOon
O0Oreturn a0 O0O0O0O cOO O00Om >= k00000 cOO

gboobobO\N a->kacODmO0000mO0D00O0D0O
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boooboobooobooboboboouoooobooooobobobooboobon
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7.2 UtilCont-O OO O0O

UtilO break,continue 00 00000000 0OExprO00000000O0O0O
0000000000 Ogote0 00 OOODOOOODOODODOODODO

data Expr = Const Target | Var String
| If Expr Expr Expr | While Expr Expr
| Let [Decl] Expr | Val Decl Expr
| Lambda String Expr | Delay Expr | App Expr Expr
--do0ooooutilzooo

| Begin [LabeledExpr] --goon
| Break -- break [
| Continue -- continue [
| Goto String -- goto [J
deriving Show
type LabeledExpr = (Maybe String, Expr) -- 0000000

gbobooobooooooognd

Expr — ... | begin LabeledExprSeq

| break | continue | goto Var
LabeledExprSeq —  LabeledExpr end | LabeledExpr ; LabeledExprSeq
LabeledExpr — Expr | Var : Expr

gooooo

OO0 UtiContCOOOOODDODODOODDOOOOOOOOOOOOOO
gorgbooooooobo«“gbboobrb“gbr”000gb0d K (ST (withIo s)
v) a0000000o0oooboooosoboooboooon

newtype KST v s a = KST ((a -> WithIO s -> (v,WithIO s))
-> WithIO s -> (v,WithIO s))

unkKST :: KST v s a -> (a -> WithIO s -> (v,WithIO s))
-> WithIO0 s -> (v,WithIO s)
unkKST (KSTm) = m

setU0 0000000 O0DOOOOKSTOOOOOOOODOODOOOOOO

instance MyState (KST v) where
get p = KST (\ ¢ (s,i,0) -> c (fst (p s)) (s,i,o0))
set pv =KST (\ ¢ (s,i,0) ->c O (snd (p s) v,i,0))

instance MyStream (KST v s) where
readChar = KST (\ ¢ (s,ch:i,0) -> c ch (s,i,0))
eof KST (\ ¢ (s,i,0) -> ¢ (null i) (s,i,0))
writeStr v = KST (\ ¢ (s,i,0) > c O (s,i,o++Vv))
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abort :: (WithIO s -> (v,WithIO s)) -> KST v s a
abort r = KST ( )

set pvOOOO pOOODOOODOO vOOOOOOQOQOOODOOODODODOO
OOOa&bort rO 0000000000 rO0000D0O0O0O0OOOOOODOOO
oodooDooDoooooobOooooooooon
Const,Var,Let U0 00000 compUI OO0 OO0O00OOOO0OOOOONO
000 0OGoto, Break, Continue D00 comp OO0 OO OOOOOOOOO

comp (Goto 1) = mkGoto 1 "QQ"
comp Break = mkGoto "_break" "("
comp Continue = mkGoto "_while" "_break"

mkGoto 1 v = TAppl (TVar "abort") (TAppl (TVar 1) (TVar v))

goto,break,continuel 000000000 OOOOONOO UtiIO Haskell O
O00o00000ooooooo

U000 UutiD | D00 000 HaskellD

goto label | abort (label ()
break abort (_break ()
continue abort (_while _break)

goto label,break 00000000000 OOODO Olabel, _break 1 U
gobooooooobobobbooobboobbooooobooo “booorg
U000OOcontinue 0 00000000 D0O0DOO whileODOODOOODOO
gooboobog break0000O0O0DOO

while 0 do D0 0O0OOO0OObreak OUUOOOOOOOOODOOOOO
gooboooobooooboobooon

comp (While el e2) = compWhile el e2

compWhile el e2 = TAppl (TVar "KST')
(TLambdal "_break"
(TLet [(PVar "_while", TAppl (TVar "unKST") body)]
(TAppl (TVar "_while") (TVar "_break"))))
where body = comp el ‘TBind‘ TLambdal "_b"
(TIf (TVvar "_b") (comp e2 ‘TBind‘ TLambdal "_"
(TAppl (TVar "KST") (TVar "_while")))
(TUnit (TVar "(0")))

Ooooutilo 000 000 HaskellO

while ¢ do ¢ | KST (\ _break ->
let KST _while = ¢’ >>= \ _b ->
if _b then ¢ >>=\ _ ->
KST _while
else return QO

in _while _break)
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000 O_breakO O00000 O_while _breakl
O00000000000000000000 break,continued 00000
00 0OUutiContO DO OO0 0O0ODOOOO COOO0O0OOO:

1 foo = \ y —> begin 1 int foo(int y) {
2 set xP 1; set yP y; 2 int x=1;
3 while get yP > 0 do begin 3 while (y>0) {
4 val x = get xP in 4
5 val y = get yP in 5 if (y==10) break;
6 if y==10 then break 6 else if (y==3) {
7 else if y==3 then begin 7 y--; continue;
8 set yP (y—1); continue 8 }
9 end else (); 9 X=X*y;
10 set xP (xxy); 10 y--3
11 set yP (y-1) 11 }
12 end; 12 return Xx;
13 get xP 13 }
14 end
000000000000 HaskelOOOOOOOOOOO
1 foo = \y ->
2 set xP 1 >>=\ _ ->
3 set yP y >>=\ _ ->
4 KST (\ _break ->
5 let KST _while
6 = get yP >=\y ->
7 if y > 0 then
8 get xP >>=\ x >
9 get yP >=\y ->
10 (if y == 10 then abort (_break ()) else
11 if y == 3 then
12 set yP (y-1) >>=\ _ ->
13 abort (_while _break)
14 else return ()) >>= \ _ ->
15 set xP (x*y) >>=\ _ ->
16 set yP (y-1) >>=\ _ ->
17 KST _while
18 else return QO
19 in _while _break) >>=\ _ ->
20 get xP
foo OO Integer -> KST a (Integer,Integer) a Integer0 0000 OO
00d00oo0oooo0ooobDooognoN as -> (a,s)[00Oo0Od ((e,0,"","M
00 do0odoooOooon
1 fst (unKST (foo 9) (\ a s -> (a,s)) ((0,0,"","")
oooon 0090 nNoooooooo _ oooo
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gotoUDODOUOOOOOOODOODOOODOUO beginlendOOOOO
Uo0D»000oo0boouooobuobbDUdBegin0 OO0 compOOOOOO
gboboooobooogooobbobobobobobbooboDboo

0000 utilo 000 000 HaskellO
begin KST (\ _end -> let
Ibll: s 1bll = \ _ -> unKST s 1bl2
1bl2: s 1b12 = \ _ -> unKST s, 1bl3
1o13: 83 1b13 = \ _ -> unKST s, _end
end .
in 1bl1 ())

s1, 82,530 000 0 goto 1bll,goto 1bl2,goto 10130 000OOONO
000000000000 HaskelOOOODOOOOOOO 1b11,1b12,1b130 0
0o0oooooooooooooooon 1bll, 1bl2, 11300000000
ooo

000000 UtiContO OO OO0 OOOOO0ODO cobooooao:

1 bar = \ _ —> begin 1 int bar(void) {
2 set xP 1; 2 int x = 1;

3 labell: 3 1labell:

4 if get xP > 100 then goto label?2 4 if (x>100)

5 else (); 5 goto label2;
6 set xP (get xP % 2); 6 X = xX*2;

7 goto labell; 7 goto labell;
8 label?2: 8 1label2:

9 get xP 9 return Xx;

10 end 10}

000000 HaskellO OOOOOOOOOOOOOO

1 bar = \ _ >

2 set xP 1 >=\ _ ->

3 KST (\ _end ->

4 let labell = \ _ -> unKST

5 (get xP >>= \ X ->

6 (if x > 100 then abort (label2 ())
7 else return ) >>=\ _ ->
8 get xP >=\ X ->

9 set xP (x*2) >>= \ _ ->
10 abort (labell ())) label2
11 label2 = \ _ -> unKST (get xP) _end
12 in labell Q)

oo0oao
fst (unKST (bar O) (\ a s -> (a,s)) ((0,0),"",""))

goooboooogo good
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7.3 callcc

callccO Scheme RubyOO O OO0 O0OODOODOOOOOODODODO
oooo0obo0obobobobobobO00Om Schemed O call/ccO OO
100000 thunkO 000 Ocallece thunk OO OOOO00OO0O
000000 0thunk000000thunk 0000000000 0OODOODODO
Uoooooobbob0oo=000000McalleccObDgnoooooooon
0000000 thunkDD0000000000Dthunk00000O00OO callcc
oboooooobooooog

baz = \ x —>
callce (\ k —>
100 + (if x==0 then 1 else k x))

oboodoogobodiObaz 0000000000000 O00O0O0O0O00 0O

o0odbUOpbaz 1J0000DO kDO OOOOOODOO 1000000000

goodooooooo _oodo
callecO0DOODODDOO0O0ODOtrylcatch O OO DO OOOODODOOO

multlist = \ xs —>
let aux = \ xs —> \ k —> begin
set xP 1; set yP xs;
while not (null (get yP)) do begin
val v = get yP in val n = head y in
if n == 0 then k 0 else
begin set xP (get xPx*n); set yP (tail y);
writeStr " ";
write n
end
end;
get xP
end in
val result = callcc (\ k —> aux xs k) in begin
writeStr "; _result_=";
write result
end

gbooooooobooooooooobbobooobboooobbooo
O00multlistO00000 0O000O0
gobobooobbooboobbobo0ob0ddd callecOOnD OO
U00ooobobobbibobdbd0bOlecalleccdbonoonoonooonoon
oboopobbooboobooooooooooo

74 000000 coroutinel]

goboboboomooooooogooboooogn

gooooboboobobouobo0oboo0ooO0gd subroutinel00O 00O O
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gooooooooooooon
ooon

increase = \ n —> \ k —>
if n > 10 then ()
else begin writeStr " _i:"; write n;
increase (nt+l) (callcc k) end;
decrease = \ n —> \ k —>
if n < 0 then ()
else begin writeStr " _d:"; write n;

decrease (n—1) (callcc k) end

goo2000b000b0000

increase 10 (decrease 0)

gooboooboooo

000000 'Oincreased decrease 000 200000000000000
0000000000 oooOoO00oD0ooD20b000000oooooooog
goooo

calleccO0O0O0O0OO00OOOODOOOODDOODDOOOOOODO tryd catchD O
000ododooooobodbobDOcalleccODOO0OOODOOooOoOooOoOooOon
000ooobOoooDobo0o0o0ooooooooooooDoooooobooog
oodooobooooooboooon

7.5 callccO OO

00000 UtiiContd callecOOOOOOOOOODOODOOOOOOODOO
oooobbob0obUdOcallecO00O0O0DDOOODOODOOOOOO

'D0000 UIDO0OO00O0 Haskell 0000000000000 O0000O00OODOOOOOO
0000000000000 00 yoooOooDOoOoOooOoOoO fix£f= Q\x > f &) A\
x> f x))0D00000000000000000000DO00000D0000O00DO0Og
Jooo0ooooooooooooooooodoooooooboooooooooooooon
000000000000 00O0o0DO000O0oOo00000oo0o0o0O0bDO000ooOooooOooOooOog
0000000 0000000000000000000dScheme DO O

(define (increase n k)

Af &Gni1e) ’0O
(begin (display "_i:") (display n)
(increase (+ n 1) (call/cc k)))))
(define (decrease n k)
GAf <n® ’0
(begin (display ".d:") (display n)
(decrease (- n 1) (call/cc k)))))

gooooooooooooon

(increase 0 (lambda (k) (decrease 10 k)))

gooodoooooooooooboooood
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callcc :: ((a ->KST v sb) ->KSTvsa) ->KSTv s a
callcc h = KST (\ ¢ -> let k a = KST (\ d -> c a)
in unKST (h k) <)
-- KST, unKST O O0O0O0O
--callcch=\c ->1letka=\d->ca
-- inhkc

callecO0OO0O0O0ODOODODOO kOOO0OO0O0OdOOODODOODOOO
dbdchoognboobooaoggg

00000000 callecOODOODOO UtilContD O OO HaskellO callccO
gbbooooobonoo

OO0O0OutiDb | DO00000 HaskellO

callcc m m >>=\ _x ->
callcc _x

U0 Ohead, tail, null, not, show U0 0 1000000000000 0O00O0O
ugboobodubooooouoo
Oooooutilo 000 000 HaskellO

funWithOneArg m | m’ >>= \ _x ->
return (funWithOneArg _x)

0000000000 UtiiContD OOO0 multlistO0OOOOO0OOOOOO
O HaskellOOOOOOOOOOO
multlist = \ xs ->

let aux = \ xs ->
return (\ k ->

set xP 1 >>=\ _ >
set yP xs >>=\ _ ->
KST (\ _break ->
let KST _while
= get yP >=\y ->
if not (null y) then
get yP >=\y ->
(if head y == 0 then k 0 else
get xP >>=\ x ->
set xP (x * head y)
>>= \ _ >
set yP (tail y) >>= \ _ ->
writeStr "." >>=\ _ ->
write (head y)) >>= \ _ —>
KST _while
else return ()
in _while _break) >>= \ _ ->
get xP)
in callcc (\ k -> aux xs >>= \ _f >
_f k) >>= \ result ->
writeStr ";_result.=." >>=\ _ >

write result
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let (_,(_,_,0)) = unKST (multlist [1,2,3,4,5])
A\ as —> (a,s)) ((O,[1),"","") in o

oobd “12345; result = 12000000000

let (_,(_,_,0)) = unKST (multlist [1,2,3,0,4,5])
A\ as -> (a,s)) (O,[1,"","") in o

ob0dgd “123; result = 00000000000 0000O000000O00OO0
obooooobbogo

76 U00OO0OO0O0OOoOoOOoOoOOOO

gbhoboooboooooooooanobobobooboobooboboo
oboooooooobdzigbceall/ccOO00OD0OOOODODOODODOOOO
goboooboboobboboopIoblavabd 0000000 Ocall/ccO
gooboobboooogboobobobUobbobooboboDMID meixud O
ugbboobooboooboobn

gooooggo
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